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FACULTY OF COMMERCE 
B. Com. (CBCS) III - Semester Examination, December 2022 / January 2023 

(Common Paper for General / Computer Applications / Advertising /  
Foreign Trade / Tax Procedure / Business Analytics and Honours Courses) 

Subject:  Business Statistics - I 
Paper – BC -302 

Time: 3 Hours         Max. Marks: 80 
 

PART – A 

Note: Answer any five questions.         (5 x 4 = 20 Marks) 
 
1. Explain three features of Statistical Data. 
2. What are two Dimensional Diagrams? Give examples. 
3. The mean monthly salary paid to all employees in a Company is Rs.1,600. The 

mean monthly salaries paid to Technical and Non-Technical Employees are 
Rs.1,800 and Rs.1,200 respectively. Determine the percentage of Technical and 
Non-Technical employees of the Company. 

4. The marks obtained by 15 students in a class test are given below. 
 X: 6, 9, 10, 12, 18, 19, 23, 23, 24, 28, 37, 48, 49, 53 and 64. 
 Find Median, Q1 and Q3. 
5. Given  X: 9, 7, 5, 11, 1, 5, 7, 3. 
 Calculate:  (i) Range.        (ii) Standard Deviation. 
6. For a distribution, Standard Deviation is 11 and its coefficient of variation is 23%. 
 Determine its Mean. 
7. What is meant by Kurtosis? 
8. Calculate Correlation Coefficient by Concurrent Deviation Method. 
 X: 67, 69, 71, 75, 85, 93, 87, 73  
 Y: 95, 80, 87, 80, 79, 75, 80, 85.   
 

PART – B 
Note: Answer all the questions.                (5 x 12 = 60 Marks) 
 

9. (a) Define Statistics. Explain its Characteristics and Limitations. 
(OR) 

 (b) What are the essentials of Drafting a Good Questionnaire. Explain. 
 
10. (a) Prepare a Pie diagram for the following data: 
 

Item Food Clothes Fuel Rent Education Miscellaneous  

Family A (Rs.) 1700 800 400 400 200 100 

(OR) 
  

..2  

 

 

 

   

Family B(Rs.) 3300 900 800 600 600 200 
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 (b) Construct Histogram and Locate Mode from the following data. 

 
 
 
 
 

 11. (a)  Calculate the Quartile Deviation and its Coefficient for the following data. 
   

   

 
(OR) 

 (b) The goals scored by two Teams A and B in the football matches were as  

             follows. 

  Find the team which is more consistent: 

 

 
  

 

12. (a) Calculate Karl Pearson’s Coefficient of Skewness from the following data 

Income (Rs.) per day 50 60 70 80 90 100 110 120 

No. of Workers 8 5 9 4 6 7 3 2 

(OR) 

 (b) Calculate SKB from the following data. (SKB = Bowley’s Co-efficient of  

              Skewness) 

Mid Value 115 125 135 145 155 165 

Frequency 6 25 48 72 60 19 

 

13. (a) Calculate Karl Pearson’s Coefficient of Correlation for the following data 

 

 

 

(OR) 
 (b) Ten competitors in a beauty contest are ranked by three judges in the 

following order. Find Rank Correlation Coefficient of each pair of judges and 
which pairs of judges has the nearest approach to beauty. 

I 1 5 4 8 9 6 11 7 3 2 

II 4 8 7 6 5 9 11 3 2 1 

III 6 7 8 1 5 10 9 2 3 4 

 

********* 

 

X 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

f 5 12 22 25 14 10 8 4 

Age (years) 20-25 25-30 30-35 35-40 40-45 

No. of Persons 70 80 180 150 20 

No. of Goals 0 1 2 3 4 

A 27 9 8 5 4 

B 17 9 6 5 3 

X 78 89 96 69 59 79 68 62 

Y 121 138 156 112 107 136 123 108 
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FACULTY OF COMMERCE

B.Com  (CBCS) III-Semester  Examination,  January / February 2023

(Common Paper for General  /  Computers / Computer Applications / Advertising / Foreign Trade / and

Tax Procedure Courses)

 Subject : Business  Statistics  - I

Paper - BC - 302

Time : 3 Hours Max Marks : 80
$uÛ≤>∑eTT ` m

    dü÷#·q : á ÁøÏ+~  @y˚ì ◊<äT Á|üX¯ï\≈£î düe÷<ÛëqeTT\T Áyêj·T+&ç. (5I4 R 20 e÷s¡Tÿ\T)
1. >∑D≤+ø£ XÊÁdüÔeTT jÓTTø£ÿ @yÓ’q eT÷&ÉT \ø£åD≤\qT ‘Ó\T|ü+&ç.
2. ~«|ü]e÷D πsU≤ ∫Á‘ê\T nq>±H˚$T?
3. ˇø£ ø£+ô|˙˝Àì ñ<√´>∑düTÔ\+<ä] #Ó*¢+∫q dü>∑≥T J‘·eTT 1600 kÕ+πø‹ø£ eT]j·TT kÕ+πø‹ø£ ø±ì yê]øÏ #Ó*¢+∫q

yê]¸ø£ dü>∑≥T J‘·eTT es¡Tdü>± 1800 eT]j·TT 1200 nsTTq ø£+ô|˙˝À ñqï ñ<√´>∑T\ XÊ‘·eTT ø£qT>=qTeTT.
4. á ÁøÏ+~ 15eT+~ $<ë´s¡Tú\ e÷s¡Tÿ\ qT+&ç eT<Ûä́ >∑‘·eTT eT]j·TT Q

1
, Q

3
 \qT ø£qT>=qTeTT.

x  : 6, 9, 10, 12, 18, 19, 23, 23, 24, 28, 37, 48, 49, 53 eT]j·TT 64.
5. á ÁøÏ+~ $esê\ qT+&ç yê´|æÔ  eT]j·TT ÁbÕe÷~Ûø£ $#·\q+ ø£qTø√ÿ+&ç.

x  : 9, 7, 5, 11, 1, 5, 7, 3
6. ˇø£ $uÛ≤»qeTT˝À ÁbÕe÷DÏø£ $#·\qeTT 11, eT]j·TT $#·s¡D >∑TDø£eTT 23% nsTT‘˚ n+ø£eT<Ûä́ e÷ìï ø£qTø√ÿ+&ç.
7. ø£s√ºdædt nq>±H˚$T?
8. á ÁøÏ+~ <ä‘êÔ+X¯+ qT+&ç kÕs¡÷|ǘ  $#·\q |ü<ä∆‹ <ë«sê düVü≤ dü+ã+<Ûä >∑TDø£eTTqT >∑Dq #˚j·T+&ç.

X  :   67 69 71 75 85 93 87 73
Y  :  95 80 87 80 79 75 80 85

uÛ≤>∑eTT ` _
       dü÷#·q : á ÁøÏ+~ nìï Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç. (5I12 R 60 e÷s¡Tÿ\T)

9. m) >∑D≤+ø£ XÊÁdüÔ+ì ìs¡«∫+#·+&ç? <ëì \ø£åD≤\qT eT]j·TT |ü]$T‘·T\qT ‘Ó\T|ü+&ç?
Ò̋<ë

_) ˇø£ dü]jÓÆTq Á|üXÊïe[qT ‘·j·÷s¡T#˚j·TT≥≈£î n‘·́ edüs¡yÓTÆq n+XÊ\qT $e]+#·+&ç.

10. m) á ÁøÏ+~ <ä‘êÔ+X¯+ qT+&ç ªô|’μ πsK ∫Á‘êìï ^j·T+&ç.
    $esê\T     ÄVü‰s¡+ eÁkÕÔ\T Ç+<Ûäq+ n<Ó› #·<äTe⁄ Ç‘·sê\T

≈£î≥T+ãeTT m : s¡÷.  1700 800 400 400 200 100

≈£î≥T+ãeTT _ : s¡÷.  3300 900 800 600 600 200

 ̋ Ò<ë
_) á ÁøÏ+~ <ä‘êÔ+X¯+ qT+&ç ãVüQfi¯ø±ìï Væ≤k º̨Á>±yéT <ë«sê …̋øÏÿ+#·+&ç.

   x : 10`20 20`30 30`40 40`50 50`60 60`70 70`80 80`90
   y : 5 12 22 25 14 10 8 4
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11. m) á ÁøÏ+~ $esê\ qT+&ç #·‘·Tsê∆+X¯ø£ $#·\qeTT eT]j·TT <ëì >∑TDø±ìï …̋øÏÿ+#·+&ç.

ej·TdüT‡ (dü+ˆˆ) 20`25 25`30 30`35 35`40 40`45
        e´≈£îÔ\ dü+K´    70 80    180    150      20

Ò̋<ë
_)  |òü⁄{Ÿu≤˝Ÿ Ä≥˝À A,B \qT ¬s+&ÉT {°eTT\T #˚dæq >√\T\T ÁøÏ+<ä Çe«ã&çq$. @$ dæús¡‘·«eTT >∑\<√ ‘Ó\T|ü+&ç.

>=\TdüT 0 1 2 3 4
A 27 9 8 5 4
B 17 9 6 5 3

12. m) á ÁøÏ+~ <ä‘êÔ+X¯+ qT+&ç ø±s¡¢ |æj·Ts¡‡Hé‡ yÓ’wüeT´ >∑TDø±ìï …̋øÏÿ+#·+&ç.
 Ä<ëj·TeTT
(s√Eyê] 2)    :    50  60 70   80   90  100 110  120
ø±]à≈£î\ dü+K´ :    8    5 9     4     6    7   3 2

Ò̋<ë
_) ÁøÏ+<ä $esê\ qT+&ç C≤r yÓ’wüeT´ >∑TDø±ìï …̋øÏÿ+#·+&ç.

eT<Ûä́  $\Te : 115 125 135 145 155 165
bÂq'|ü⁄q´eTT :  6  25  48  72 60  19

13. m) á ÁøÏ+~ <ä‘êÔ+X¯eTT  qT+&ç ø±s¡¢ |æj·Ts¡‡Hé düVü≤dü+ã+<Ûä >∑TDø±ìï …̋øÏÿ+#·+&ç.

x : 78 89 96 695 59 79 68 62
y : 121 138 156 112 107 136 123 108

Ò̋<ë
_) ˇø£ n+<ë\ b˛{°̋ À |ü~eT+~ b˛{°<ës¡T eTT>∑TZs¡T »&û®\ <ë«sê á ~>∑Te ì∫Ãq sê´+≈£î\qT bı+~Hês¡T.

yÓTT<ä{Ï »&ç®   :  1 5 4 8 9 6 11 7 3 2
¬s+&Ée »&ç®   :  4 8 7 6 5 9 11 3 2 1
eT÷&Ée »&ç®  :  6 7 8 1 5 10 9 2 3 4
ø√{Ï düVü≤dü+ã+<Ûä >∑TDø£eTTqT|üjÓ÷–+∫ n+<äeTT $wüj·T+˝À @ Ç<ä›] »&û®\ jÓTTø£ÿ ìs¡íj·TeTT yêdüÔ$ø£‘·qT
|ü]o*+#·TeTT.

*******
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FACULTY OF COMMERCE
B.Com. (CBCS) III - Semester  Examination, December-2022 / January - 2023

(Common Paper for General / Computers Applications / Advertising / Foreign Trade and 
Tax Procedure / Honours / Business Analystics Courses)

Subject : Business Statistics - I

Paper - BC - 302

Time : 3 Hours Max: Marks : 80

(5x4=20Marks) A- 


 .1

 Two Dimensional Diagrams .2

 Rs.1600/-  .3

 Rs.1200  Rs.1800

 15 .4

X : 6, 9, 10, 12, 18, 19, 23, 23, 24, 28, 37, 49, 53 and 64

 Q3  Q1 

X : 9, 7, 5, 11, 1, 5, 7, 3  .5

 (ii) Range (i

 23%, Co-efficient of Variations  11  .6

 Kurtosis .7

 Correlation Coefficient  Concurrent Deviation .8

X : 67, 69, 71, 75, 85, 93, 87, 73 

Y : 95, 80, 87, 80, 79, 75, 80, 85

Cont.2
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(5x12=60Marks) B- 


 (a.9



 (b  

 (Pie diagram)  (a.10

Item Food Clothes Fuel Rent Education Miscellaneous 

Family A (Rs.) 1700 800 400 400 200 100

Family B (Rs.) 3300 900 800 600 600 200



 (Mode)   (b     

X 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90

f 5 12 22 25 14 10 8 4

 Co-efficient of QD  Quartile Deviation  (a.11

Cont.2 
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 B  A  (b     

 (co-efficient of skewness)  (a.12


 SKB (Bowley's Co-efficient of Skewness)  (b    

 co-efficient of correlation  (a.13


 (10)   (b     

 Pair  Rank co-efficient of correlation


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FACULTY OF COMMERCE 
B.Com. (CBCS) III Semester Examination, December 2022 - January 2023 

(Common Paper for General / Computer Applications / Advertising / Foreign Trade / 
Tax Procedure / Business Analytics and Honours Courses)  

Subject:  Advanced Accounting 
Paper Code- BC-301 

Time: 3 Hours          Max. Marks: 80 

PART – A 

Note: Answer any five questions.             (5 x 4 = 20 Marks) 

1. Explain Fluctuating Capital Accounts? 
2. Shiva and Rama are sharing profit in the ratio of 5:3 Vishnu is admitted with 3/8th  share 

of which he obtained 2/8th  from Shiva and 1/8th from Rama. Find the New Profit Sharing 
Ratio of Shiva, Rama and Vishnu. 

3. Explain the judgment in the case Garner Vs Murray. 
4. Explain Forfeiture of Shares. 
5. Kalyan Ltd decided to purchase a business the Profits for the last four years are: 2015 

Rs.80,000; 2016 Rs.95,000; 2017 Rs.92,000 and 2018 Rs.89,000. The business was 
looked after by the management remuneration from alternative employment if not 
engaged on the business comes to Rs.18,000 p.a Find the amount of Goodwill, if it is 
valued on the basis of 3years purchases of the Average Net Profit for the last four years.   

6. Murthy a holder of 400 Shares of Rs.10 each in Soft Line Ltd. could not pay call money 
at the rate of Rs.3 on each. Company forfeited the shares and reissued at Rs.8 each as 
fully paid. Write necessary Journal Entries. 

7. Explain Call-in Arears and Call in Advance  
8. State the basis for division of the following expenses between Pre- incorporation and 

Post incorporation Period. 
(a) Salary to worker (b) Rent of Building (c) Director Fees (d) Advertisement Expenses 

 
PART – B 

Note: Answer all the questions.  (5 x 12 = 60 Marks) 

9.  (a) What is a Partnership Deed? Explain the important clauses in it? 
(OR) 

(b) The following was the Balance Sheet of A and B who were sharing profit in ratio 3:2  
 on 31 December 2015 

Balance Sheet as on 31 December 2015 

Liabilities Amount Assets Amount 

General Reserves 60,000 Cash at Bank 10,000 

Creditors 1,20,000 Sundry Debtors 20,000 

A’s Capital 60,000 Stock 40,000 

B’s Capital 40,000 Plant and Machinery 1,10,000 

    Building 1,00,000 

  2,80,000   2,80,000 

 
 

..2 
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They agreed to admit C into partnership on the following terms 

i) C was to be given one third share in profits and was to bring Rs.50,000 as his 

    Capital and Rs.20,000 as his share of Good will 

ii) That the value of Stock and Plant were to be reduced by 10 % 

iii) The Building Account was to be appreciated by 20 % 

iv) Record the newly admitted claim of Rs.9, 000 payables to employee. 

Draft Journal entries and prepare necessary Ledger Account and Balance Sheet of the 

new firm. 

 

10. (a) A and B were in Partnership and agreed to dissolve. The Assets realized Rs.1, 60,000  

the Liabilities were as follows. Sundry Creditors Rs.90, 000, Loan from A Rs.40, 000, 

A’s Capital Rs.20, 000 and B’s capital Rs.30,000. They shared profits and losses in 

proportions 3:2. 

 Prepare necessary Ledger Accounts to close the Books of Firm. 

(OR) 

 (b) A,B and C are in the partnership showing Profit and Loss in the ratios of 3:2:1. Their  

  Balance Sheet prepared as at 31 December 2015 was as follows 

Liabilities Amount Assets Amount 

Sundry Creditors 35,000 Cash at Bank 15,000 

Capital accounts  Sundry Debtors 10,000 

A   40,000 Stock 20,000 

B 20,000 Land & Buildings 55,000 

C 5,000   

 1,00,000  1,00,000 

They agreed to dissolve partnership as on this date. To prevent a disastrous loss as 

on sale A agreed to take over the Stock at a valuation of Rs.15, 000 and Debtors at 

a valuation of Rs.7, 000. The Land and Buildings are sold at an auction for                         

Rs.27, 000. Show by means of Ledger Account how the partnership book will be 

closed. C being insolvent and unable to provide any more cash. Prepare necessary 

Ledger Accounts. 

 

11. (a) What is the difference between Equity Shares and Preference Shares? 

(OR) 

         (b) On 1 January 2015 the Directors of Ram Limited has issued 1,00,000 shares at  

 Rs.10 per share. The share amount payable is as follows Rs.3 on Application, Rs.3   

 on Allotment, Rs.2 First Call and the balance Final Call. Application were received  

           for 1,20,000 Shares. The Director of the Company decided to reject the applications  

 for  20,000 Shares and to return the money. All the money due on Allotment and  

 Call   was received except the First Call on 1000 Shares and Final Call on 1500   

 Shares.  Pass the Journal entries and prepare the Opening Balance Sheet. 

 

..3 
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12.  (a) The following is the Trial Balance of Raju Ltd as on December 31st 2018 

Particulars  Debit Rs. Credit Rs 

Stock 1,25,000  

Sales   4,00,000 

Purchases  3,45,000  

Wages 50,000  

Discount 7,000  

Salaries  7,500  

Rent  4,950  

General Expense 17,050  

Surplus Account as at 01.01.2018  20,000 

Dividend Paid 9,000  

Capital 10,000 Shares of Rs.10  

each 

 1,00,000 

Debtors and Creditors 37,500 17,500 

Machinery  29,000  

Cash 16,200  

Reserves  1,15,500 

Bad Debts 4,800  

 6,53,000 6,53,000 

Prepare Statement of Profit and Loss and Balance Sheet after taking into account 

the following information: 

a) Closing Stock Rs.30,000 

b) Purchases include Rs.5,000 Machinery purchased on 01.07.2018  

c) Directors declared 10% as Final Dividend. 

d) Income Tax Rs.3,000 

e) Transfer to Reserve Fund Rs.2,000 

(OR) 

      (b) Explain as to how the profit prior to incorporation is ascertained and for what purpose  

           can it be  utilized. 

 

13. (a) From the following information Calculate the Value of Goodwill at 3 years purchase  

            of Super Profits  

            a) Average Capital Employed in Business Rs.12,00,000. 

            b) Net Trading Profit of the firm for the past three years. Rs.2,14,000, Rs.1,95,000;  

      Rs.2,25,000 

            c) Rate of Return expected on Capital Invested 12% 

            d) Fair remuneration to the partners for their service Rs.24,000 

            e) Sundry Assets of the firm Rs.7,50,000  and Current Liabilities Rs.40,000 

(OR) 

 

..4 
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     (b) On March 31st   2018 the Balance Sheet of a Limited Company disclosed the following  

position 

Liabilities   Amount  

Rs. 

Assets Amount Rs. 

Issued Capital in Rs.10 Share 4,00,000 Fixed Assets  5,00,000 

Reserves 90,000 Current Assets 2,00,000 

Profit and Loss Account  20,000 Goodwill    40,000 

5%Debentures  1,00,000   

Current Liabilities 1,30,000   

 7,40,000  7,40,000 

On March 31st, 2018 the Fixed Assets were independently valued at Rs.7,00,000 and  

Good will Rs.70,000 

Compute the Value of Company Share by Net Asset Method. 

 

** 
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FACULTY OF COMMERCE

B.Com  (CBCS) III-Semester Examination,  December  2022 / January 2023

(Common Paper for General / Computer Applications / Advertising / Foreign Trade and Tax Procedure

/ Business Analytics / Honours Courses)

Advanced Accounting

Paper Code - BC - 301

Time : 3 Hours Max Marks : 80
$uÛ≤>∑eTT ` m

    dü÷#·q : á ÁøÏ+~  @y˚ì ◊<äT Á|üX¯ï\≈£î düe÷<ÛëqeTT\T Áyêj·T+&ç. (5I4 R 20 e÷s¡Tÿ\T)
1. #·s¡ eT÷\<Ûäq U≤‘ê\qT  $e]+#·+&ç
2. •e eT]j·TT sêeTT ˝≤uÛÑqcÕº\qT 5:3 ìwüŒ‹Ô̋ À |ü+#·Tø=+{≤s¡T $wüßíøÏ 3/8 e+‘·T yê{≤ Ç∫Ã uÛ≤>∑düTÔì>±

rdüTø=Hêïs¡T. 2/8 e+‘·T •e qT+&ç eT]j·TT 1/8 sêe÷ qT+&ç $wüßí ô|’ yê{≤qT rdüTø=Hêïs¡T. •e, sêe÷
eT]j·TT $wüßí jÓTTø£ÿ q÷‘·q ˝≤uÛÑqcÕº\qT ìwüŒ‹Ô …̋øÏÿ+#·+&ç.

3. >±sYqsY (Vs) eTTÁ¬s πødüT rs¡TŒ Ä<Ûës¡+>± $e]+#·+&ç.
4. yê{≤\ s¡<äT›qT $e]+#·+&ç.
5. ˇø£ yê´bÕ]ì ø£\«Hé *$Tf…&é yês¡T ø=qT>√fi¯ófl  #˚j·T&Üìï ìs¡ísTT+#ês¡T. >∑‘· Hê\T>∑T  dü+e‘·‡sê\ ˝≤uÛ≤\T

es¡Tdü>± 2015 s¡÷. 80,000 : 2016 s¡÷. 95,000 : 2019 s¡÷. 92,000 eT]j·TT 2018 s¡÷. 89,000
yê´bÕsêìï ìs¡ísTT+#·&ÜìøÏ ìs¡«Vü≤≈£îì |ü]Vü‰s¡eTT s¡÷. 18,000 dü+e‘·‡sêìøÏ >∑T&é$˝Ÿ $\TeqT …̋øÏÿ+#·+&ç.
Hê\T>∑T dü+e‘·‡sê\ dü>∑≥T ˝≤uÛ≤\ qT+&ç eT÷&ÉT dü+e‘·‡sê\ ø=qT>√fi¯ófl Ä<Ûës¡+>±  >∑T&é$˝ŸqT …̋øÏÿ+#ê*.

6. kÕ|tº …̋’Hé *$Tf…&é ø£+|üì˝Àì 400 yê{≤\T ˇø=ÿø£ÿ{Ï s¡÷. 10 #=|üq eT÷]Ô  ø£*Z ñHêï&ÉT. n‘·qT ∫e]
|æ\T|ü⁄ô|’ s¡÷. 3 #Ó*¢+∫e …̋qT. ø£+|üìyês¡T yê{≤\qT s¡<äT› #˚dæ eT]s=ø£]øÏ s¡÷. 8 #=|üq |üP]Ô>± #Ó*¢+|ü⁄
C≤] #˚dæHês¡T. ø£+|üì |ü⁄düÔø±\˝À nedüs¡yÓTÆq ∫{≤º |ü<äT›\T Áyêj·T+&ç.

7. eTT+<äT>± e∫Ãq |æ\T|ü⁄\T eT]j·TT |æ\T|ü⁄\˝À ãø±sTT\T.
8. qyÓ÷<äT≈£î eTT+<äT eT]j·TT qyÓ÷<äT ‘·s¡Tø±\ìøÏ ˝≤uÛ≤\qT …̋øÏÿ+#˚≥|ü&ÉT á ÁøÏ+~ Ks¡TÃ\˝À m Ä<Ûës¡+>±

$uÛÑõkÕÔs¡T  $e]+#·+&ç.
A) |üìyê] J‘ê\T     b)  uÛÑeHê\ô|’ n<Ó›    c)  &Ó’¬sø£ºs¡T |ò”E    d)  Á|üø£≥q Ks¡TÃ\T

uÛ≤>∑eTT ` _
       dü÷#·q : á ÁøÏ+~  nìï Á|üX¯ï\≈£î düe÷<ÛëqeTT\T Áyêj·T+&ç. (5I12 R 60 e÷s¡Tÿ\T)

9. m) uÛ≤>∑kÕ«eT´ ̌ |üŒ+<äeTT nq>±H˚$T?<ëì˝À eTTK´yÓTÆq ø±¢E\qT $e]+#·+&ç.
Ò̋<ë

_) 31 &çôd+ãs¡T 2015q m qT+&ç _ uÛ≤>∑düTÔ\T ˝≤uÛ≤\qT 3:2 ìwüŒ‹Ô̋ À |ü+#·Tø=+{≤s¡T yê] Ädæú
n|ü\ |ü{Ïºø£ ÁøÏ+~ $<Ûä+>± ñqï~.

 n|ü\T     yÓTT‘·ÔeTT s¡÷.   ÄdüTÔ\T                   yÓTT‘·ÔeTT s¡÷.

kÕ<Ûës¡D ]»s¡T« 60,000 u≤´+≈£î˝À q>∑<äT 10,000
ãTTD<ë‘·\T 1,20,000 $$<Ûä ãTTDÁ>∑düTÔ\T 20,000
m eT÷\<ÛäqeTT 60,000 düs¡T≈£î\T 40,000
_ eT÷\<ÛäqeTT 40,000 bÕ¢+≥T eT]j·TT j·T+Á‘ê\T 1,10,000

uÛÑeHê\T 1,00,000
2,80,000 2,80,000



OU - 
10

83
  O

U - 
10

83

Code No. E-0011/T
2

yês¡T ÁøÏ+~ wüs¡‘·TÔ\˝À C ì uÛ≤>∑düTÔì>± #˚s¡TÃ≈£îHêïs¡T.
1. C øÏ 1/3 e+‘·T ˝≤uÛ≤\˝À yê{≤≈£î >±qT s¡÷. 50,000 eT÷\<ÛäqeTT eT]j·TT s¡÷. 20,000 >∑T&é$˝ŸqT
   rdüT≈£îsêe …̋qT.
2. bÕ¢+≥T eT]j·TT düs¡T≈£î $\Te˝À 10% ‘·–Z+#·e …̋qT
3. uÛÑeHê\ $\TeqT 20%#˚ ô|+#·e …̋qT.
4. q÷‘·q+>± ñ<√´>∑düTÔ\≈£î #Ó*¢+#·e\dæq u≤<Ûä́ ‘· s¡÷. 9,000>± ìs¡ísTT+#ês¡T.
q÷‘·q dü+düú̋ À ∫{≤º |ü<äT›\T Áyêdæ nedüs¡yÓTÆq Äesê®U≤‘ê\qT eT]j·TT q÷‘·q Ädæú n|ü\ |ü{Ïºø£qT ‘·j·÷s¡T#̊j·T+&ç.

10. m) A eT]j·TT B uÛ≤>∑kÕ«eT´ dü+düú̋ À uÛ≤>∑düTÔ\T uÛ≤>∑kÕ«eT´ dü+düúqT s¡<äT› #̊j·T&ÜìøÏ n+^ø£]+#ês¡T. dü+düú ÄdüTÔ\T
neTà>± s¡÷. 1,60,000 edü÷\T nsTTq$. yê] ÄdüTÔ\T ÁøÏ+<ä $<Ûä+>± ñHêïsTT $$<Ûä ãTTD<ë‘·\T s¡÷. 90,000
A  qT+&ç n|ü s¡÷. 40,000 A eT÷\<ÛäqeTT s¡÷. 20,000 eT]j·TT B eT÷\<ÛäqeTT s¡÷. 30,000 yê]
˝≤uÛÑqcÕº\ ìwüŒ‹Ô 3:2
dü+düúqT eT÷dæy˚j·T&ÜìøÏ nedüs¡yÓTÆq Äesê®U≤‘ê\qT Áyêj·T+&ç.

Ò̋<ë
_) A,B  eT]j·TT C  \T uÛ≤>∑kÕ«eT´ dü+düú̋ À uÛ≤>∑düTú\T>± ñ+&ç ̋ ≤uÛ≤\qT 3:2:1 ìwüŒ‹Ô̋ À |ü+#·Tø=+{≤s¡T. 31

&çôd+ãs¡T 2015 Hê{Ï Ädæú n|ü\ |ü{Ïºø£ ÁøÏ+~ $<Ûä+>± ñqï~.

n|ü\T                      yÓTT‘·ÔeTT s¡÷.   ÄdüTÔ\T                     yÓTT‘·ÔeTT s¡÷.
$$<Ûä ãTTD<ë‘·\T 35,000 u≤´+≈£î˝À q>∑<äT 15,000
eT÷\<ÛäHê\T ãTTDÁ>∑düTÔ\T 10,000
        A 40,000 düs¡T≈£î 20,000
        B 20,000 uÛÑ÷$T uÛÑeHê\T 55,000
        C 5,000

1,00,000 1,00,000

Ä ‘˚~q yês¡T dü+düúqT s¡<äT› #˚j·÷\ì n+^ø£]+#ês¡T. ÄdüTÔ\T neTàø±\ô|’ qcÕºìï ‘·–Z+#·&ÜìøÏ A  uÛ≤>∑düTÔ&ÉT
ÁøÏ+~ ÄdüTÔ\qT rdüTø=Hêï&ÉT düs¡T≈£î $\Te s¡÷. 15,000 eT]j·TT ãTTD<ë‘·\ $\Te s¡÷. 7,000 uÛÑ÷$T
uÛÑeHê\qT yÓ\j·TT <ë«sê neTàø£eTT s¡÷. 27,000 C  uÛ≤>∑düTÔ&ÉT Byê\ rdæHê&É. n‘·ì e<ä› qT+&ç A  q>∑<äT
sê<äT nì uÛ≤$dü÷Ô uÛ≤>∑kÕ«eT´ dü+düúqT eT÷dæy˚j·T&ÜìøÏ nedüs¡yÓTÆq Äesê® U≤‘ê\qT ‘·j·÷s¡T#˚j·T+&ç.

11. m) Ä~Ûø£́ |ü⁄ yê{≤ eT÷\<ÛäqeTTq≈£î eT]j·TT áøÏ«{° yê{≤ eT÷\<ÛäqeTTq≈£î eT<Ûä́  >∑\ ‘˚&Ü\qT $e]+#·+&ç.
Ò̋<ë

_)  1 »qe] 2015q sêyéT *$Tf…&é jÓTTø£ÿ &Ó’¬sø£ºs¡T¢ 1,00,000 yê{≤\qT ˇøÏÿ+{ÏøÏ s¡÷. 10 #=|üq C≤]
#˚dæHês¡T. #Ó*¢+|ü⁄\T ÁøÏ+~ $<ÛäeTT>± #˚j·Te˝…qT. yê{≤ <Ûäs¡U≤düTÔ ô|’q s¡÷. 3 yê{≤ πø{≤sTT+|ü⁄ô|’q
s¡÷. 3 yÓTT<ä{Ï |æ\T|ü⁄ ô|’q s¡÷. 2 eT]j·TT $T>∑‘ê ì\«qT ‘·T~ |æ\T|ü⁄ô|’q |æ*∫Hês¡T. 1,20,000
yê{≤\≈£î <Ûäs¡U≤düTÔ\T  e∫Ãq$. ø£+|üì &Ó’¬sø£ºs¡T¢ 20,000 yê{≤\ô|’ kıeTTàqT ‹]– yê|üdüT Ç∫ÃHês¡T. yê{≤
πø{≤sTT+|ü⁄ eT]j·TT nìï |æ\T|ü⁄\T  #˚dæHês¡T ø±ì 1000 yê{≤\ô|’ yÓTT<ä{Ï |æ\T|ü⁄˝À eT]j·TT 1500
yê{≤\ô|’ ‘·T~ |æ\T|ü⁄˝À kıeTTà edü÷\T ø± Ò̋<äT. nedüs¡yÓTÆq ∫{≤º |ü<äT› Áyêdæ ÁbÕs¡+uÛÑ ÄdæÔ n|ü\ |ü{Ïºø£qT
‘·j·÷s¡T#˚j·T+&ç.
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12. m) 31 &çôd+ãs¡T 2018 Hê{Ï sêE *$Tf…&é jÓTTø£ÿ n+ø£D ÁøÏ+~ $<Ûä+>± ñqï~

$esê\T                                         &Ó_ Ÿ̋ Á¬ø&ç{Ÿ
düs¡T≈£î\T 1,25,000
neTàø±\T 4,00,000
ø=qT>√fi¯ó¢ 3,45,000
y˚‘·Hê\T 50,000
&çkÂÿ+≥T 7,000
J‘ê\T 7,500
n<Ó› 4,950
kÕ<Ûës¡D Ks¡TÃ\T 17,050
$T>∑T\T 1`1`2018 ``` 20,000
&ç$&Ó+&É¢ #Ó*¢+|ü⁄ 9000
eT÷\<ÛäqeTT 10,000 yê{≤\ô|’
ˇøÏÿ+{ÏøÏ s¡÷. 10 #=|üq ``` 1,00,000
ãTTDÁ>∑düTÔ\T eT]j·TT ãTTD<ë‘·\T 37,500 17,500
j·T+Á‘ê\T 29,000
q>∑<äT 16,200
kÕ<Ûës¡D ]»s¡T«\T ``` 1,15,5000
sêìu≤ø°\T 4,800

6,53,000 6,53,000

ÁøÏ+~ düs¡T›u≤≥¢qT …̋ø£ÿ˝ÀìøÏ rdüTø=ì ø£+|üì jÓTTø£ÿ ˝≤uÛÑqcÕº\ U≤‘ê\qT eT]j·TT Ädæú n|ü\ |ü{Ïºø£qT
‘·j·÷s¡T#˚j·T+&ç.

a) eTT–+|ü⁄düs¡T≈£î s¡÷. 30,000
b) 1`7`2018 ø=qï j·T+Á‘ê\T s¡÷. 5,000 ø=qT>√fi¯ófl ø£*dæ ñHêïsTT
c) ‘·T~ &ç$&Ó+{Ÿ\qT 10%>± &Ó’¬sø£ºs¡T¢ Á|üø£{Ï+#ês¡T
d) Ä<ëj·T |üqTï s¡÷. 3,000
e) ]»s¡T«≈£î eT*¢+|ü⁄ s¡÷. 2,000

Ò̋<ë
_) qyÓ÷<äT≈£î eTT+<äT ˝≤uÛ≤\qT @$<Ûä+>± …̋øÏÿkÕÔs¡T. Ä ˝≤uÛ≤\qT m+<äT≈£î ñ|üjÓ÷–kÕÔs¡T $e]+#·+&ç.

13. m) øÏ+~ düe÷#ês¡eTTqT ñ|üjÓ÷–+∫  3 dü+e‘·‡sê\ n<äq|ü⁄ ˝≤uÛ≤\ ø=qT>√fi¯fl Ä<Ûës¡+>± >∑T&é$˝ŸqT $\Te
ø£≥º+&ç.
a)  yê´bÕs¡eTT˝À dü>∑≥T eT÷\<Ûäq ø£\Œq s¡÷. 12,00,000
b)  dü+düú jÓTTø£ÿ >∑‘· eTT&ç dü+e‘·‡sê\ es¡Ôø£|ü⁄ ìø£s¡ ˝≤uÛ≤\T es¡Tdü>± s¡÷. 2,14,000 s¡÷. 1,95,000
    s¡÷. 2,25,000
c)  ô|≥Tºã&çô|’ Ä•+∫q sêã&ç πs≥T 12%
d)  uÛ≤>∑düTÔì ùde\≈£î |ü]Vü‰s¡eTT s¡÷. 24,000
e)  dü+düú jÓTTø£ÿ $$<Ûä ÄdüTÔ\T s¡÷. 7,50,000 eT]j·TT Á|üdüTÔ‘· n|ü\T s¡÷. 40,000

Ò̋<ë
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_) 31 e÷]Ã 2018 Hê{Ï ø£+|üì jÓTTø£ÿ Ädæú n|ü\ |ü{Ïºø£ øÏ+~ $<Ûä+>± ñqï~.
 n|ü\T             yÓTT‘·ÔeTT s¡÷.   ÄdüTÔ\T                   yÓTT‘·ÔeTT s¡÷.

C≤Ø nsTTq eT÷\<ÛäqeTT dæús¡ ÄdüTÔ\T 5,00,000
yê{≤ ˇøÏÿ+{ÏøÏ s¡÷. 10
#=|üq 4,00,000
]»s¡T«\T 90,000 Á|üdüTÔ‘· ÄdüTÔ\T 2,00,000
˝≤uÛÑqcÕº\ U≤‘ê 20,000 >∑T&é$˝Ÿ 40,000
5% &çu…+#·s¡T¢ 1,00,000
Á|üdüTÔ‘· n|ü\T 1,30,000

7,40,000 7,40,000

31 e÷]Ã 2018q dæús¡ ÄdüTÔ\ $\Te s¡÷. 7,00,000 eT]j·TT >∑T&é$˝Ÿ s¡÷. 70,000>± $\Te ø£{ÏºHês¡T.
ìø£s¡ ÄdüTÔ\ |ü<ä∆‹ <ë«sê ø£+|üì jÓTTø£ÿ yê{≤ $\TeqT …̋øÏÿ+#·+&ç.

*******
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FACULTY OF COMMERCE
B.Com (CBCS) III-Semester Examination,  December-2022 / January - 2023
(Common Paper for General / Computers Application / Advertising / 

Foreign Trade / Tax Procedure / Business Analytics and Honours Courses)
Subject : Advanced Accounting

Paper Code - BC - 301

Time : 3 Hours Max: Marks : 80

(5x4 = 20 Marks) A- 

 (5) 
 Fluctuating .1

 1/8  2/8  3/8  5:3  .2



 Garner Vs Murray  .3

 .4

Rs.95,0002016 Rs.80,0002015  .5

18,000  Rs.89,0002018  Rs.92,0002017

 (Goodwill) 

 Rs.3/-  Call Money  Rs.10/-  400  .6

 Rs.8/- 

 Cal in Advance  Call in arears .7

 .8

 (d)  (c)  (b)  (a

Cont.2
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(5x12=60Marks) B- 


 (a.9



 3:2  B  A  (b   

 2015  31 
Liabilities Rs. Assets Rs. 




 A 

B 

60,000

1,20,000

60,000

40,000

2,80,000









10,000

20,000

40,000

1,10,000

1,00,000

2,80,000

 'C' 

 Rs.20,000  Rs.50,000  1/3  'C' (i

 10%  (ii

 20%  (iii

 Rs.9,000  (iv


 Rs.1,60,000  B  A (a.10

 Rs.30,000  BRs.20,000  ARs.40,000  ARs.90,000 
 3:2 



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 3:2:1  C  BA (b.(10

 31.12.2015 
 Amount

Rs.

 Amount

Rs.



A

B

C

35,000

40,000

20,000

5,000

1,00,000







15,000

10,000

20,000

55,000

1,00,000

 Rs.15,000  A 
 'C'  Rs.27,000  Rs.7,000 



 (a.11


 Rs.10/-  1,00,000  2015  (b     


Rs.3/- 

Rs.3/- 

 Rs.2/- 

 20,000  1,20,000

1500  1000  Calls 

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 (Trial Balance) 31.12.18  (a.12

Particulars Rs. Rs.










 Surplus 1-1-2018


Rs.10/-  10,000 






1,25,000
-

3,45,000
50,000

7,000
7,500
4,950

17,050
-

9,000
-

37,500
29,000
16,200

-
4,800

-
4,00,000

-
-
-
-
-
-

20,000
-

1,00,000
17,500

-
-

1,15,500
-

6,53,000 6,53,000


Rs.30,000  (a

 1.7.18  Rs.5,000  (b

 10%  (c

Rs.3,000  (d

Rs.2,000/-  (e


 12 (b
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 (a.13

Rs.12,00,000  Employed  (a

 Rs.2,25,000/-  Rs.1,95,000/-Rs.2,14,000/-  (b

12%  (c

Rs.24,000  (d

 Rs.40,000  Rs.7,50,000  (e



 31.3.2018  (b.13

 Amount

Rs.

 Amount

Rs.

Rs.10/-  4,00,000  5,00,000

 90,000  2,00,000

 20,000  40,000

 5% 1,00,000

 1,30,000

7,40,000 7,40,000

 70,000  7,00,000  31-3-2018

 (Net Asset Method) 


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Code No: E-0013/E 
 

FACULTY OF COMMERCE 
B. Com. (CBCS) III - Semester Examination, December 2022 / January 2023 

(Common paper for General and Honours Courses) 
Subject:  Financial Institutions & Markets  

Paper: DSC - 303 

Time: 3 Hours          Max. Marks: 80 
 

PART – A 
Note: Answer any five questions.          (5 x 4 = 20 Marks) 
 

1. Weaknesses of Indian Financial system 

2. Hire Purchase Method 

3. Marginal Standing Facility 

4. Corporate Bonds 

5. Primary Market 

6. Stock Market 

7. Non-Banking Finance Companies 

8. Rights Issue 

 

PART – B 
Note: Answer all the questions.                 (5 x 12 = 60 Marks) 
 

9. (a) “A sound Financial System contributes significantly in the Economic Development” 
  -Discuss. 

(OR) 
  (b) Define Financial System? What are the functions of a Financial System? 
 
10. (a) What is Bank? Explain the functions of Commercial Banks. 

(OR) 
  (b) What are the types and functions of Non-Banking Finance Companies?  
 
11. (a) What is a Money Market? Explain various types of Money Market Instruments. 

(OR) 
  (b) Explain the role of RBI in Money Market. 
 
12. (a) Define Debt Market? Explain the classification of Indian Debt Market. 

(OR) 
  (b) What is a Bond? Discuss about Bond ratings in detail. 
 
13. (a) What is IPO? Explain the methods of IPO. 

(OR) 
  (b) Explain the functions of SEBI. 

 
********* 
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FACULTY OF COMMERCE 
B. Com. (CBCS) III - Semester Examination, December 2022 / January 2023 

(Only for Tax Procedure Courses) 
Subject:  Assessment of Other Entities 

Paper Code-BC: 303 
Time: 3 Hours                    Max. Marks: 80 

PART – A 
Note: Answer any five questions.                                                   (5 x 4 = 20 Marks) 

1. Hindu Coparcener 
2. Limited Liability Partnership 
3. PFAOP 
4. Types of Companies 
5. Co-operative Society 
6. What are Trusts? 
7. Charitable Trust 
8. Partnership Firm 

9. PART – B  

Note: Answer all the questions.                                          (5 x 12 = 60 Marks) 

 9.  (a) Explain the basic conditions for assessment as Hindu  Undivided Family. 
(OR) 

      (b) Explain the procedure to effect partition and consequences after such  
            partitions.  
 
10. (a) Explain the provisions regarding set off and carry forward of losses of firm? 

(OR) 

       (b) X and Y are two partners sharing Profits & Loss in the ratio of 1:2, of X Co. a  
            firm engaged in manufacturing chemicals. The profit and loss account of the  
            firm for the year ending 
            31st March 2022 is as follows:    

 
..2 

 
 
 
 

Particulars Amount  (Rs.) Particulars Amount  (Rs.) 

Cost of the Goods Sold 43, 00,000 Sales  63, 00,000 
 

Salary to Staff    8, 89,800 Long term Capital Gain        40,000 
Depreciation        80,000 Other Business Receipts     31,000 
Remuneration  
 to partners 

   

 X 1, 00,000   
 Y  2, 40,000   
Interest in Capital to 
Partners@ 18% 

   

 X 36,000   
 Y 25,200   
Other Expenses 3, 70,000   
Net Profit 3, 30,000   

 63,71,000  63,71,000 
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     Other information 

1. The firm completed all legal formalities to get the status of ‘Firm’ 
2. The firm has given donation of Rs. 80,000 to a notified Public Charitable Trust  
     which is  included in other expenses 
3. Salary and Interest is paid to Partners as per the Partnership Deed. 
4. Depreciation allowable u/s 32 is Rs. 78,000 
5. Income and investment of X and Y are as follows 

 
    
 
 
 
 
 
 
 
          Find out the Net Income and Tax Liability of the Firm and Partners for the A. Y  
          2022-23  
11. (a) Explain the assessment of Association of Persons (AOP)? 

(OR) 

      (b) R, S ,G are the three members of AOP sharing Profit and Loss in the ratio of  
            2:2:1 the Profit and Loss A/C of the AOP for the year ending 31st March 2022  
            is as following: 
Particulars Amount  (Rs.) Particulars Amount  (Rs.) 

Cost of the Goods Sold 52, 00,000 Sales 63, 00,000 

Interest to Member @24%  Long term Capital Gain       1, 60,000 

R 48,000   

S      72,000   

G 24,000   

Salary to Members     

R      90,000   

G 40,000   

Other Expenses 3, 80,000   

Net Profit   6, 06,000   

 64, 60,000  64, 60,000 

    Other information:  
1. The AOP gives a Donation of Rs. 40,000 to a Public Charitable Trust (not debited 
     to P/L  A/c) which is eligible U/s 80G 
2. Out of Other Expenses Rs. 20,000 not deductible by virtue of Section 43B. 

        Other Income and particulars of members are given below 

    
Find out the Tax Liability of AOP and Members for the Assessment Year 2022-23? 

 …3 

 X Y 

Interest on Company Deposit 64,000 50,800 

Dividend from Foreign Companies        7,000     11,000 

Long term Capital Gains 80,000 20,000 

Short term Capital Gain       3,000 6,000 

Winnings from Lotteries (Gross)       4,000 10,000 

Contribution towards Home loan A/C of National    

      Housing Bank   40,000 60,000 

  Amount (Rs.) Nature of Income Deduction u/s 80D PPF Contribution 
R 1,22,000 Savings Bank Interest Rs. 3,000 medical 12,000 
S 1,16,000 

10,000 
Savings Bank Interest 
Dividend from UTI 

 4,000 

G 1,10,000 Interest on Company  Rs. 4,000 medical  
  Deposits insurance premium 5,000 
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12. (a) Explain the Tax Liabilities, Tax on Distributed Profits under Company? 

(OR) 

      (b) From the following information compute the Total Income of R limited and the  
           Tax Liability for the assessment year 2022-23  
 

Profit and loss account 

Expenses relating to goods of   Sale of goods of unit in Special 

Unit in Specific Economic Zone 9,00,000 Economic Zone 15,00,000 

Expenses relating to Other 

Business          

7,00,000 Sale of Other Business 10,60,000 

IT paid 1,00,000 Interest from Bank 

Deposits 

20,000 

Interest on Income Tax 20,000   

General Reserve 4,00,000   

Provision for Contingent Liability                 1,00,000   

Proposed Dividend 2,00,000   

Balance Carried on   1,60,000   

 25,80,000  25,80,000 

 
1. B/f Loss as per Books of Account Rs.2,00,000  
2. B/f Depreciation as per books of Account  Rs.1,60,000 
3. B/f Unabsorbed depreciation as per Income tax Rs.4,60,000 
 
13. (a) What are the essential conditions for Exemption of Trust? 

(OR) 

      (b) What is Cooperative Society? Explain the procedure to compute the Taxable  
            Income and Tax Liability of Cooperative Society. 
 
 

****** 
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FACULTY OF COMMERCE 
B. Com. (CBCS) III – Semester Examination, December 2022 / January 2023 

(Only for Computer Applications Courses) 
Subject: Relational Database Management Systems 

Paper : BC - 303 
Time: 2 Hours                      Max. Marks: 50 

PART – A 
Note: Answer any five questions.                                   (5 x 2 = 10 Marks) 
 
1. Redundancy & Consistency  

2. DBA 

3. Decomposition 

4. Order by Queries   

5. Views in SQL 

6. ACID Properties 

7. Deadlock Prevention 

8. Distributed Database Systems  

PART – B 
Note: Answer all the questions.                                                     (5 x 8 = 40 Marks) 
  
9.   (a) Explain Logical DBMS Architecture?  

(OR) 

   (b) Explain ER-Diagram with suitable example? 

 

10. (a) Define Normalization. Compare 3rd and Boyce Codd Normal Forms with  

            example? 

(OR) 

      (b) What are Indexes? Explain types of Indexes and Tree Structures? 

                

11. (a) Explain DDL Commands with examples? 

(OR) 

   (b) What are Joins? Explain the different types of Joins 

 

12. (a) Explain Backup and Recovery Techniques? 

(OR) 

   (b) Write in brief about Database Security? 

 

13. (a) Explain the advantages & the disadvantages of DDBMS. 

                                                           (OR) 

   (b) Explain the Structure of Client Server Systems & its advantages.    

 

****** 
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FACULTY OF COMMERCE 
B. Com. (CBCS) III - Semester Examination, December 2022 / January 2023 

(Only for Advertising Courses) 
Subject:  Media Management 

Paper –BC-303 
Time: 3 Hours         Max. Marks: 80 

PART – A 
Note: Answer any five questions.                                (5 x 4 = 20 Marks) 
 
1. Role of Media in Business 

2. TRP 

3. Media Mix 

4. Market Coverage 

5. Media Measurement 

6. Types of OOH 

7. Importance of Media Scheduling 

8. Media Buys 

PART – B 

Note: Answer all the questions.                                                  (5 x 12 = 60 Marks) 
 
9.  (a) What is Media Planning? Explain about the Factors that influence Media  
            Planning Decisions 

(OR) 
   (b) Discuss about the Challenges in Media Planning 
 
10. (a) Define Media Research. What is the role & important sources of Media  
            Research? 

(OR) 
   (b) Write Notes on:   (i) Press Audit          (ii) IRS 
 
11. (a) What is the need for Media Mix. Enumerate the factors that affect Media Mix 
            Decision. 

(OR) 
   (b) State the Merits & Demerits of Television Media 
 
12. (a) What is Media Scheduling? Describe the factors affecting Media Scheduling. 

(OR) 
   (b) What is Media Budget? Discuss about the methods of setting Media Budget. 
 
13. (a) How do you Evaluate Print Media? Explain. 

(OR) 
   (b) What is Plan Metrics? Write short Notes on GRP and SOV 
 
 

****** 
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FACULTY OF COMMERCE 
B. Com. (CBCS) III Semester Examination, December 2022 / January 2023 

(Only for Foreign Trade Courses) 
Subject:  International Business Procedure & Documentation 

Paper Code: BC - 303 
Time: 3 Hours                   Max. Marks: 80 

PART – A 
Note: Answer any five questions.                                                   (5x4= 20 Marks) 
 
1. International Business 
2. RBI Functions 
3. Documentary Credit 
4. Petrodollar Markets 
5. ECGC 
6. GST 
7. IEC Number 
8. Bill of Lading 

PART – B  

Note: Answer all the questions.                                                     (5x12= 60 Marks) 
 
9.   (a) Define FEMA and Explain its main Provisions? 

(OR) 
 (b) Explain the factors affecting Foreign Exchange Rate? 
 

10. (a) What is Trade Contract, Advance Payment and Open Account in International  
            Trade? 

(OR) 
 (b) What is LOC? Explain the role of various Parties of LOC? 
 

11. (a) Explain about Pre-Shipment and Post-Shipment Credit in Export Credit  
           Scheme? 

(OR) 
 (b) Explain the following Markets:- Euro Currency, Asian Currency and Euro 
      Bonds? 
 

12. (a) Define Credit Risk Management and its importance in International Business? 
(OR) 

 (b) What is meant by Quality Inspection? Explain its types? 
 

13. (a) Define GST and its role in International Business Procedures? 
(OR) 

 (b) Define the term EDI and its characteristics in International Business? 
 

****** 
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FACULTY OF COMMERCE 
B. Com. (CBCS) III - Semester Examination, December 2022 / January 2023 

(Only for Business Analytics) 
Subject: Data Analytics Modeling 

Paper - 304 
Time: 2 Hours                            Max. Marks: 50 

PART – A 
Note: Answer any five questions.                                 (5 x 2 = 10 Marks) 
 
1. Corporate Drivers 
2. Differentiate different types of Data. 
3. Data Profiling 
4. Data Warehousing. 
5. Data Modeling 
6. Unstructured Data 
7. MYSQL Vs MSSQL 
8. ETL Tools. 

PART – B 
Note: Answer all the questions.                                                   (5 x 8 = 40 Marks) 
 
9.   (a) Explain how Business and Corporate Drivers impact the strategic direction of  
            business. 

(OR) 
   (b) What is Data? Compare different types of Data. 
 
10. (a) Explain different Tools for Data Profiling. 

(OR) 
   (b) Explain different Tools for Data Cleansing. 
 
11. (a) What is the Role of Data Quality in the Organization? Explain. 

(OR) 
   (b) What is Data Integration? Explain the differences between ETL Processes. 
 
12. (a) What is the purpose of Data Warehousing? What are the Key components of a  
            Data Warehouse? 

(OR) 
   (b) Distinguish between Data Warehouses and Data Lakes. Compare Techniques 
            for Data Integration with regards to Data Warehousing. 
 
13. (a) What is the Role of Data in the Organization. Explain how data moves through  
            the Data Life Cycle. 

(OR) 
   b) What is the Role of Data Modeling in the Organization? What are the Data  
           Modeling Techniques? 
 
 

****** 
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Code No. E-0013/T

FACULTY OF COMMERCE

B.Com  (CBCS)  III-Semester Examination,  December/ January 2022 - 2023

(Common Paper for General  and Honours Courses)

Subject : Financial Institutions and Markets

Paper - I : DSC 303

Time : 3 Hours Max Marks : 80
$uÛ≤>∑eTT ` m

    dü÷#·q : á ÁøÏ+~  @y˚ì ◊<äT Á|üX¯ï\≈£î düe÷<ÛëqeTT\T Áyêj·T+&ç. (5I4 R 20 e÷s¡Tÿ\T)
1. uÛ≤s¡‘· Ä]úø£ e´edüú jÓTTø£ÿ ˝ÀbÕ\T
2. n<Ó› ø=qT>√\T |ü<ä∆‹
3. e÷]®q˝Ÿ kÕº+&ç+>¥ ô|òdæ*{Ï
4. ø=s√Œπs{Ÿ u≤+&ÉT¢
5. ÁbÕ<∏ä$Tø£ e÷¬sÿ{Ÿ
6. kÕºø˘ e÷¬sÿ{Ÿ
7. u≤´+øÏ+π>‘·s¡ Ä]úø£ dü+düú\T
8. Vü≤≈£îÿ\ C≤Ø

uÛ≤>∑eTT ` _
       dü÷#·q : á ÁøÏ+~ nìï Á|üX¯ï\≈£î düe÷<ÛëHê\T sêj·T+&ç. (5I12 R 60 e÷s¡Tÿ\T)

9. m) ˇø£ eT+∫ Ä]úø£ e´edüú Ä]úø±_Ûeè~∆øÏ m˝≤ düVü≤ø£]düTÔ+~.
Ò̋<ë

_) Ä]úø£ e´edüúqT ìs¡«∫+∫, <ëì jÓTTø£ÿ $<ÛäT\qT ‘Ó\|ü+&ç.

10. m) u≤´+≈£îì ìs¡«∫+∫, yêDÏ»´ u≤´+≈£î\ $<ÛäT\qT ‘Ó\|ü+&ç.

 Ò̋<ë
_) u≤´+øÏ+π>‘·s¡ Ä]úø£ dü+düú\ jÓTTø£ÿ s¡ø±\T eT]j·TT $<ÛäT\T ‘Ó\|ü+&ç.

11. m) Á<äe´ e÷¬sÿ{Ÿ nq>±H˚$T? $$<Ûä s¡ø± …̋’q Á<äe´ e÷¬sÿ{Ÿ jÓTTø£ÿ kÕ<ÛäHê\T ‘Ó\|ü+&ç.
Ò̋<ë

_) Á<äe´ e÷¬sÿ{Ÿ˝À uÛ≤s¡rj·T ]»sY« u≤´+ø˘ jÓTTø£ÿ bÕÁ‘·qT $e]+#·+&ç.

12. m) ãTTD e÷¬sÿ{Ÿ nq>±H˚$T? uÛ≤s¡‘·<ä Á<äe´ e÷¬sÿ{Ÿ jÓTTø£ÿ eØZø£s¡DqT ‘Ó\|ü+&ç.

 Ò̋<ë
_) u≤+&é (Bond) nq>±H˚$T? u≤+&é jÓTTø£ÿ $$<Ûä πs{Ï+>¥\ >∑÷]Ã $|ü⁄\+>± ‘Ó\|ü+&ç.

13. m) ÁbÕ<∏ä$Tø£ Á|üC≤ düeTs¡ŒD (IPO) qT ìs¡«∫+∫, <ëìì C≤]#˚ùd |ü<ä∆‘·T\qT ‘Ó\|ü+&ç.
Ò̋<ë

_) SEBI jÓTTø£ÿ $<ÛäT\qT ‘Ó\|ü+&ç.

*******
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FACULTY OF COMMERCE
B.Com. (CBCS) III - Semester  Examination, December-2022 / January - 2023

(Common Paper for General / Computers Applications / Advertising / Foreign Trade and 
Tax Procedure / Honours / Business Analystics Courses)

Subject  Finaicial Institutions & Markets
Paper  DSC - 303

Time : 3 Hours Max: Marks : 80

(5x4=20Marks) A- 


 .1

Hire Purchase Method .2

Standing Facility  .3

 .4

 .5

 .6

 .7

Rights Issue .8

(5x12=60Marks) B- 


 (a.9



 (b  

Cont.2
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 (a.10



  (b     

 Instruments  (a.11



 (b     

 Debt  Debt (a.12



 (b

 IPO (a .13  



 SEBI (b        


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FACULTY OF COMMERCE 
B.Com. (CBCS) III – Semester Examination, March 2022 

 
(Common Paper for General/ Computers/ Computer Applications/ Advertising/ 

Foreign Trade and Tax Procedure/ Honours Courses)  
 

Subject: Business Statistics - I 
Paper – BC - 302 

Time: 3 Hours                                                                                       Max. Marks: 80 
PART – A  

Note: Answer any five questions.  (5 x 4 = 20 Marks) 

1. Limitations of Statistics. 

2. What do you mean by Tabulation? 

3. Distinguish between Diagrams and Graphs. 

4. Find the Combined mean from the following data. 

Group  A B C 

Number  150 200 225 

Mean 50 20 30 

5. Calculate Quartile Deviation and its Co-efficient from the following data. 

15 21 12 20 10 9 35 38 

6. If the Coefficient of correlation between two variables  𝑥 𝑎𝑛𝑑 𝑦 𝑖𝑠 0.86 the 

Covariance is 36 and the standard Deviation of 𝑥 𝑖𝑠 4, find the standard Deviation 

of 𝑦. 

7. Given Q1= 18, Q3 = 25, Mode= 21 and mean =18; find the coefficient of 

Skewness.    

8. Briefly explain the Probable Error. 

 
PART – B 

Note: Answer any five questions.  (5 x 12 = 60 Marks) 

9. Define statistics, explain its scope and limitations. 

10. What do you mean by collection of Data? Explain the various methods of 

collecting primary data. 

11. Average wages of some firms given below. Represent this by simple Bar 

Diagram. 

Firm A B C D E F 

Average Wages 250 550 500 300 200 150 

 
 
 
 

..2 
 
 



OU - 
10

83
  O

U - 
10

83

 
Code No. 14011/E 

-2- 
 

12. From the following data construct Ogive curve and locate Median. 

Profit in Lakhs 

(Rs.)  

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

No. of 

Companies  

3 8 12 16 11 10 7 2 

 

13. Compute Median and Quartiles from the following data. 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 

Frequency  3 9 15 30 18 5 

 

14. Calculate the Arithmetic mean for the following data. 

Marks Below 

10 

Below 

20 

Below 

30 

Below 

40 

Below 

50 

Below 

60 

Below 

70 

Below 

80 

No. of 

Students 

15 35 60 84 96 127 198 250 

 

15. Calculate Mean Deviation and it’s co-efficient for the following data by using 

Mean.  

Marks 0-5 5-10 10-15 15-20 20-25 25-30 30-35 

Frequency  2 7 10 12 9 6 4 

 

16. Calculate the value of 𝛽1 𝑎𝑛𝑑 𝛽2 for the following distribution.  

Marks 20-25 25-30 30-35 35-40 40-45 45-50 50-55 55-60 60-65 

No. of 

Students  

6 8 11 14 21 15 11 9 5 

 

17. Calculate Karl Pearson’s Coefficient of correlation from the following data: 

X 24 29 19 14 30 19 27 30 20 28 11 

Y 33 35 16 26 23 27 19 20 16 11 22 

 

18. Calculate Rank Correlation Co-efficient from the following data: 

X 1 2 3 5 4 

Y 2 1 4 3 5 

** 
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FACULTY OF COMMERCE
B.Com (CBCS) III-Semester Examination,  March - 2022

(Common Paper for General / Computers Application / Advertising / 
Foreign Trade / Tax Procedure and Honours Courses)

Subject : Business Statistics - I
Paper - BC - 302

Time : 3 Hours Max: Marks : 80

A- 

(4x5 = 20 Marks) 
 .1

 .2

 .3

 (Combined mean)  .4

C B A 

225 200 150 

30 20 50 

 (Co-efficient)  Quartile Deviation  .5

15 21 12 20 10 9 35 38

Deviations  36 Co-variance  x  0.86  Correlation  y  x .6

 Deviation   y    4  x

 Co-efficient of skewness Mean-18  Mode=21  Q3=25  Q1=18  .7

 Probable error .8

Cont..2
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B 
(5x12 = 60 Marks) 

 .9

 .10

 (Simple Bar diagram)  .11

 A B C D E F

 250 550 500 300 200 150

 Ogive curve  .12

 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

 3 8 12 16 11 10 7 2

 Quartiles  .13

  0-10 10-20 20-30 30-40 40-50 50-60

 3 9 15 30 18 5

 .14

 Below-10 Below-20 Below-30 Below-40 Below-50 Below-60 Below-70 Below-80

 15 35 60 84 96 125 198 250

 Co- efficient  Mean Deviation  .15

 0-5 5-10 10-15 15-20 20-25 25-30 30-35

 2 7 10 12 9 6 4

Cont.3
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 2  1 .16

 20-25 25-30 30-35 35-40 40-45 45-50 50-55 55-60 60-65

  6 8 11 14 21 15 11 9 5

 Co-efficient of Correlation  .17

X 34 29 19 14 30 19 27 30 20 28 11

Y 33 35 16 26 23 27 19 20 16 11 22

 Rank Correlation of Co-efficient  .18

X 1 2 3 5 4

Y 2 1 4 3 5


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